


Responsible 

Care 

1 + 1 = 2 

E = mc² 



}What does ôActivity-based approachõ 
mean? 

 
 

é a simple formulaé 
 

CO2  

= tons transported  

   x average transport distance  
          x CO 2- emission factor per ton - km  

 



}What components do you need?  
 

 

}Number of orders  

}Number of kilometers  

}Tonnage per trip  

}Empty Return Trip Percentage  

}Splits for Road ð Rail -  Ferry 

 



Do you need a fully 

integrated solution? 

Or do you want it simple? 



McKinnon  Table 1 
McKinnon Table 8 

Calculation Template for CO2-Emissions from Freight Transport Operations 






